
Question 1: Using __________ requires more overhead than __________ because of the extra
tracking.

StaticResource, DynamicResource
DynamicResource, StaticResource

PermanentResource, TemporaryResource
TemporaryResource, PermanentResource

Question 2: An event that is raised whenever the value of CanExecute changes is known as
__________.

CanExecute
CanExecuteChanged

Command
Execute

Question 3: Which one of the following can be used to set dependency property values?

Temporary resource
Permanent resource
Dynamic resource

Static resource

Question 4: The Java programming language has a specific class for creating splash screens,
called __________.

Java.awt.start
Java.lang.splash
Java.start.screen
Java.awt.SplashScreen

Question 5: Frame has a __________ property used in enabling or disabling the bar.

ShowsNavigationUI
BlocknavigationUI
NavigationUIVisibility

NavigationUIBlock

Question 6: Which of the following components generates an input Event?

Printer
Multi Touch

Plotter
Speaker
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